BUILDING 2100: Academic Support and Offices	New Sq. Ft	Existing Location	Existing Area
Classrooms/Labs	·		<u> </u>
Classrooms (11 @ 1,000 ASF)	11,000	408A, 408B, 403, 402,101,102, 103, 104	6467
English Staff Work Spaces	300	402	120
English Computer Labs (2 @1,250 ASF)	2,500	405, 406	1941
Math Computer Lab 1@1,500 ASF	1,500	New	0
Subtotal Classrooms/Lab	15,300	11011	8528
Tutoring Center	10,000		0020
Tutoring Area - Combining Tutoring, RAW, Math Learning Center	6,000	2401,2401D, 600	5574
Tutor/MLC/RAW Study Rooms -Various Sizes	2,000	2401 E-M, 603, 604	1,777
Tutoring Center Work Spaces (3+ check-in desk)	400	2410A,C	300
Math Emporium	1,500	607	1,134
MLC/Emporium Staff and Support (3 + support)	300	601, 606A	245
Proctoring	1,400	606	304
Student Support/Service Area	500	new	0
	12,100		9334
Computer Studies Program	.2,.00		
Computer Studies Labs (5 @ 1,200 ASF)	6,000	ชบ4A, ชบ4B, ชบ5A, ชบ5B, 803 Partial	4674
Maker Spaces-2 (Digital Media & Hardware based)	2,000	New	0
Open Computer Lab - 80 stations)	2,500	803 Partial	3500
Network Lab	1,000	805C	400
Computer Lab Support Staff Work Spaces	300	803 Partial	250
Subtotal Computer Studies	11,800		8824
Library/Shared Spaces	,		
Computer Lab	1,200	Bld 2000	1200
Read/Study Rooms	1,200	New	0
Circulation/Reference Desk	300	New	0
Adaptive Technology	500	New	0
Collaborative/Gathering Space	1000	New	0
Coffee/Food Shop	500		
Subtotal Library/Shared Space	4,700		1200
Faculty Spaces	·		
Faculty Offices (85 @ 100 ASF)	8,500	Bld 2100	inc
Adjunct Faculty Work Stations (25 @ 40 ASF)	1,000	Bld 2100	inc
Dean's Suite	1,500	Bld 2100	inc
Lounge/Breakroom/Workroom	550	Bld 2100	inc
Conference Rooms (6 - various sizes)	2,000	New	0
Subtotal Faculty Space	13,550		7170
Subtotal ASF	57,450		#REF!
Circulation and Support Uses (hallways, restrooms) NEW Non-Assignable	31,023		#REF!
TOTAL OGSF (avg 65% Efficiency)	88,473		#REF!
LIBRARY ADDITION	New Sq Ft	Existing Area	Existing Area
Library Processing and Support	1,000		New
Library Storage	1,000		New
Library Offices	500		New
TOTAL - Renovations	2,500	0	
RENOVATIONS	New Sq Ft	Existing Area	Existing Area
	now oq i t	4,000	New
Library Renovation (B2100)			
Library Renovation (B2100) Rooms 2401		4,000	New

BId 3400: PUBLIC SAFETY CENTER	New Sq Ft	Existing Location	Existing Space
EMS/Fire Tech/AJ			
Simulation Labs (2@ 1000)Driving/Firearms	2,000	2201, 2203	2,222
Classrooms (4 @1150 w/integrated storage	4,600	801	1,875
Classrooms 2@ 1000 ASF	2,000	2206	1,833
Computer Lab/Classroom	1,500		
EMS Situation Rooms (3@1200) fixed furnishings	3,600		
Mat Room	2,000		
Locker Room w/Showers (30 men and 30 women)	1,500	New	0
Administration of Justice Storage	500	Bld 2100	125
		Bld 2100	200
Faculty Spaces			
Faculty Offices (5 offices @ 100ASF)	500	Bld 2100	360
Meeting Room/Kitchenette	300	New	0
Dean Suite with Admin	1,000	Bld 2100	360
Conference Room	400	New	0
Subtotal ASF	19,900		6,975
Circulation and Support Uses (hallways, restrooms)	6,567		2,302
TOTAL OGSF (75% Efficiency avg)	26,467		9,277
OUTDOOR AREAS			
Emergency Vehicle & Apparatus Carport (5-6 bays)	4,500	Bld 600	Bld 600
Classroom/Vehicle Lab	1,000		
Fire Tower (7 stories)	7,000	New	New
Class A Burn Room	1,000		
TOTAL - OGSF (100% Efficiency)	13,500		

BLD 3500: ADVANCED MANUFACTURING AND TRANSPORTATION	New Sq Ft	Existing Location	Existing Area
Auto Tech			
Auto Tech (8 bays)	5,000	809 Partial	3,300
Auto Tech Smog Bay	625	809 Partial	552
Smog Office	500	817A	72
Specialty Lab (5 various size	5,000	815,816,817	1,280
Auto Tech Parts	1,200	809 Partial	1,100
Auto Tech Tools	1,000	808 Partial	845
Tech support Area	500		
Welding			
Welding Lab w/2 ton overhead crane	6,000	810 Partial	2,700
Welding Rod Room	200	810A	145
Welding Tool Room	1,000	808 Partial	200
Advanced Mfg. Lab(s)	3,000	810 Partial, 815	820
Welding Inspection Room	400		
CTE Tutoring Shop Area	1,000		
Shared Support			
Classroom (2@1000)	2,000	New	0
Computer Lab	1,500	New	0
Collaborative/Study/Gathering Area	1,500	New	
Faculty Space			
Faculty Offices (4@ 100 ASF plus work/break area)	600	810B, 817B	200
Admin Support	150		44.044
Subtotal ASF	31,175		11,014
Circulation and Support Uses (hallways, restrooms)	7,794		2,754
TOTAL OGSF (80% Efficiency avg)	38,969		13,768
OUTDOOR AREAS			
Auto Tech Vehicle Carport (10 bays) -4 with auto lifts	6,000	Bld 800 uncovered	1,400
Welding Covered Outdoor Yard w/Overhead Crane	3,500	Bld 800, uncovered	1,600
Covered Student Project Storage	1,000	B800, uncovered	
Secure Storage for Welding (metal Bld)	2,000	B800, uncovered	
Secure Storage for Auto (metal Bld)	2,000	8 40' Containers	1,920
TOTAL - OGSF (100% Efficiency)	14,500		

AG SCIENCES			
BLD 3600-HORICULTURE	New Sq Ft	Existing Location	Existing Location
BED 3000-HORICULTURE	New 3q Ft	Existing Location	Existing Location
Classroom/Lab	1,500	802 partial	600
Greenhouse	3,100	807	744
Office/Resource Library	500	New	0
Subtotal ASF	5,100		1,344
Circulation and Support Uses (hallways, restrooms, etc.)	1,275		336
TOTAL OGSF (80% Efficiency)	6,375		1,680
OUTDOOR ELEMENTS	New Sq Ft	Existing Area	Existing Area
Soil Bins	1,000	Bld 800	200
Equipment Paved Area	5,000	Bld 800	2,400
Orchard	40,000	New	New
Growing Grounds	24,000	New	New
Shade house	3,000	Bld 800	2,000
Equipment Storage	1,500	New	0
Outdoor Learning Patio (Covered)	1,600		
Student Project Area - Outdoor Classroom	2,000	Bld 800	400
Total Outdoor Areas	72,100		5,000
BLD 3700: VITICULTURE	New Sq Ft	Existing Area	Existing Area
Winemaking	1,500	806	1,011
Barrell Room	1,000		
Tasting Room/Classroom	1,800	1815	480
Analysis and Teaching Lab	1,000	1814	400
Office/Support Cold Storage	500 250	Now	100
Subtotal ASF	6,050	New	1,591
Circulation and Support Uses (hallways, restrooms, etc.)	1,513		398
TOTAL OGSF (80% Efficiency)	7,563		1,989
TOTAL COOL (CO/S Emblericy)	1,500		1,303
OUTDOOR AREAS	New Sq Ft	Existing Area	Existing Area
Patio (Covered)	2,000	New	New
Crush Pad (Covered)	2,000	New	New
Equipment Storage	2,500	Vineyard	
Open Space	20,000	New	New
TOTAL - Outdoor Areas	26,500		

BLD 600 STEAM BUILDING - ARTS	New Sq Ft	Existing Location	Existing Location
Studio Arts-2 Labs @ 1500 Drawing and Painting	3,000	500, 501	2,085
Arts Lab 2@ 1500 (Ceramics, Sculpture)	3,000	New	0
Photography (w/darkroom + 3 new processes) work room, storage,	3,500	715,703,709	2,552
Graphic Design and Media computer lab and integrated shared spaces with Photo	3,500	702, 713	1760
Fashion/Interior Design	1,500	802 partial	650
Arts Gallery	1,500	New	
Journalism Workroom	1,500	2409	1176
Commercial Music/Broadcast Radio	2,000	New	0
Classrooms (3 @ 1,000 ASF)	3,000	New	4000
Computer Labs (2 @ 1,500 ASF) Interiors, Shared	3,000	New	0
Faculty Space			
Faculty Offices (5 @ 100 ASF)	500	New	0
Faculty Work Area	200	New	0
Adjunct Faculty Work Stations(7)	300	New	0
Subtotal ASF	26,500		12,223
Circulation and Support Uses (hallways, restrooms, etc.)	11,395		5,256
TOTAL OGSF (70% Efficiency)	37,895		17,479
Outdoor Garden, Display space	1500	New	0
TOTAL OGSF- Outdoor Area	1500		
RENOVATIONS			
Building 4000		3,000	0
Amphitheater -Add Covered structure, lighting, sound systems		5,000	
Total Renovations	0	8,000	0

BLD 800 STEAM BUILDING - SCIENCES	New Sq Ft	Existing Location	Existing Location
Biosciences			
Wet Labs (4@ 1,500 ASF each)	6,000	New	0
Cadaver Room	500	1,857	235
Lab Support	2,000	New	
Shared Learning Labs 2@750 ASF)	1,500	New	
Chemistry			
Chemistry Labs (6 @ 1,500 ASF)	9,000	1802, 1805, 1807	3069
Lab Support	3,000	1812, 1803	2,280
Special Labs (small group) (3@ 750 ASF)	2,250	1806, 1807	969
Shared Spaces			
Classrooms (shared) (8 @ 1,000 ASF)	8,000	1816	1,032
Computer Labs (2 @ 1,500 ASF)	3,000	New	New
Study and Collaboration Spaces	1,000	New	New
Faculty Spaces			
Faculty Offices (18 @ 100 ASF)	1,800	Bld 2100 partial	1,000
Faculty Work Area	250	New	0
Adjunct Faculty Work Stations(10)	400	Bld 2100 partial	200
Dean Suite	1,500	New	New
Conference & Meeting Rooms	1,000	New	New
Break/Support	500	New	New
Subtotal ASF	41,700		8,785
Circulation and Support Uses (hallways, restrooms, etc.)	22,518		4,744
TOTAL OGSF (65% Efficiency)	64,218		13,529
OUTDOOR AREAS	New Sq Ft	Existing Area	Existing Area
Demonstration Garden (Horticulture)	3000	Existing Area	Existing Area
	3000		
TOTAL - Outdoor Area	3000		
RENOVATIONS		Existing	
Building 1800		17,330	0
Total Renovations	0	17,330	0
Total Nellovations	- 0	17,330	

BLD 300 STUDENT CENTER	New Sq Ft	Existing Location	Existing Area
Student Center			
Student Union/Event Space	11,000	New	0
Food Services: Dining (Remains in 1600)	0	0	0
Food Services: Event Servery, Storage	1,000	New	0
Food Pantry	600	New	0
Student Government	1,500	1643 Partial	1,405
Student Clubs	1,500	1643 Partial	1,000
Health Center	1,700	1705-1711	1,000
Veterans			
Veterans Center - Open Study	1,000	1316, 1318	710
Veterans Center - Conference Room	1,000	new	0
Veterans Center Offices (4 @ 100 ASF + Support)	500	1311, 1314, 1315	438
Veterans Center Computer Lab	500	1317	176
Bookstore, Copy Center			
Bookstore - Retail	2,500	1300	1,849
Bookstore Storage	500	1301	648
Bookstore Office/Work Room	300	1302, 1303	255
Copy Center	1,000	1740	1,152
Subtotal ASF	24,600		8,633
Circulation and Support Uses (hallways, restrooms, etc.)	8,118		2,849
TOTAL OGSF (75% Efficiency)	32,718		11,482
OUTDOOR AREAS	Nov. 0 : 51	Estation Anna	Estation Asses
OUTDOOR AREAS	New Sq Ft	Existing Area	Existing Area
Patio	2000		2000
TOTAL - Outdoor Area			NA
RENOVATIONS		Existing	
Bld 1600 Room 1643		2,500	0
<u> </u>		2,500	U

BLD 2700: Auxiliary Gym	New Sq Ft	Existing Location	Existing Area
Gym: 3 Practice BB Courts (2 cross-court)	15,000	New	0
Offices/Support	1,000	New	0
Locker/Shower/Laundry/Storage	4,000	New	0
Storage	1,500	New	0
Classrooms (2 @ 1,000 ASF)	2,000	New	0
Subtotal ASF	23,500	0	0
Circulation and Support Uses (hallways, restrooms, etc.)	4,700		
TOTAL OGSF (80% Efficiency)	28,200		

TEMPORARY OFFICE COMPLEX	New Sq Ft	Existing Location	Existing Area
75 Faculty Offices (5@ 2160 GSF Modulars)	10,800	New	0
Deans Suite, Conference, Admin Support 1@2160 GSFmodular	2,160	New	0
Restroom Unit	600	New	0
Raised , covered walkway, ranmps,	3,000		
Subtotal ASF	16,560	0	0
Circulation and Support Uses (hallways, restrooms, etc.)			
TOTAL OGSF (100% Efficiency)	16,560		